0000 0400 (20040 50)

ﬂ){%Mn+UF—{%Mn—DFDDDDDD

(2) O0OODOD0OD0ODOOO SOOOOODOOSO40000000000DODDOO
gbooboobooobooo3goboooobooboooonon

00
(1) {—mn+nf—{—nm—1ﬁ{:%M{m+1ﬁ—@y-nﬂ
1
= Zn2-4n
_ ’I’L3 (D )

nd = {%n(n—l—l)}2 — {%n(n— 1)}2
(n+n3={%@qun+zﬁ?—{%nm+1ﬁ2
(n+m3:{%m+axn+mf—{%oﬂqxn+mf

+)m+mﬁz{%m+mm+m+nf—{%m+m—nm+mf

S = {%(n—i—m)(n—i—m—kl)}z — {%n(n— 1)}2

(n+m—1)(n+m)}2D

ro | =

1 2
SDDDDDDDDDDD{§m+nMn+m+U},{

000000000000000000
S=(00)’-(00)* 000 S=(0o)*-(00)°
00000000
000000000000 40000000000000000
(2k+ 1) =4k? + 4k + 1 = 4(K* + k) + 1
0040000 10000000000

S040000000
(0oo)

— 1 ©O0O0oOoo0oooooo



